DME3012 Midterm Solutions (Vehicle Structure) 10/28/2021
Solution
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Max. displacement (z): -125.2 mm

Max. displacement (x): -26.3 mm
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Max. displacement (z): -127.2 mm
Max. displacement (x): -30.6 mm
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Max. displacement (z): -183.6 mm

Max. displacement (x): -13.3 mm
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Mode7: 4.3387E+01 Hz Node8: 4.4241E+01 Mode 9: 7.4995E+01



Mode7: 4.2201E+01 Hz Mode8: 4.3119E+01 Hz Mode9: 7.4390E+01 Hz
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Mode 1: 3.4331E+00 Hz Mode 2: 3.4381E+00 Hz Mode 3: 3.7612E+00 Hz
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Mode1: 3.3297E+00 Hz Mode?2: 3.3425E+00 Hz Mode3: 3.6753E+00 Hz
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Max. displacement: 1.279 mm
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Max. displacement: 1.275 mm

K4 spring stiffness: 1.6163E+09

MAE 71E]

SfiM o OiXE: -3

QE (i X £F): -3

SA AE: +3



